e BB SRR - LRI TR FE-REIXFEMOOCRIRE
RS

1 2
— A= > -
— 47550 = | ]
3 4
1. BAjE
1750
A, 2
B. -2
C. 10
D, 3
s¥k: [-2]
2 —4
— RN > _
=170 2 =5|= | ]
0 3

2, BAER
1750
A0
B. 6
C. -6
D, 3
z%: [6]
35 e ae
1. s W DA TREHMTHIE, MFFEEERERE
150 :

A TRAIRSEHEETFIRES

g, DFFITE#, FHRFERS
c ED=0, MpHLE—TLRE
b, ED=0, NDHUBEHETHRLG]
sz, (TARSEHEETFIRMEE,



— P uMiHFE ARITAIE, EEANE, AGETHRIFERGE
2. EAykER: FEFERER, N B®ITHIEA
&R :
A, FIEAE
B, WIFAANE
c. WEAEME
p. FIFHETTS
s [FHIATF )

a 0 0 4K

— A0 a, B 0
mEATAIR Tt |BMEET

0 b a O

b, 0 0 a,

3. BAIERR:
17610 ;
A aaa,a, — bbb,

B. ada;a, +bbbsb,
C. (@a,— byby Naza, — b3by)
D. (aya; — bbb Naa, —bib,)

s | (a,a; —bb W aa, —bb,) ]

1 2 3 4
. 2 3 41 o . .
lﬁD:?r 41 2 A2 DHRILE a,( =12.3.4) HIEL
4 1 2 3
4. BAPEER T W A, 424, +34, +44, =
1%EI0
A\ 9
B. 24
C. 6
D\ O
2% [o]
x 1 2 x
. -1 0 x 4 )
BI= | W@ PHRRE
x 2
5. BRjERT x 0 0 2
EIN :
Al
B. 5
C\ '2



an an ans —2a11 —2a12 =213
Wlan an an|l=M =0, W4T, |-2aan —2an -2as|=

a31  az: ass —2an —2an —-2ax

a b ¢

-

Wa.b.cEFAMA, MTHHD=|a" b° & |=

b+ec c+a a+b

3

. Bk

I :

. 0

g, (a+b+c)(b-a)(c—a)c-b)

C. (b—a)(c—a)(c—b)
(a+b+c)(b-a)(c—a)

[

\

> [

D
sx. [(@+b+o)(b-a)c-a)c-b)

1 2
1 2 0

WnpiiTdE D, =1 0 0|, WE—TETTREHINERT M
1 0 0 - =»

BTN
"1
nl(l—>% -}
A { Z‘"
B, !
nl(1-2>1)
C\ fml
D\ 0



a a i a
PN b b b b*
178D = I
c c c c
d d 4 d°
9. ERIERR
1500
A 0
B. (a+b+c)b—a)c—a)c-Db)
C. abed(b—a)(c—a)(d—a)(c—b)(d-b)(d-c)
D. (b—a)(c—a)(d—a)(c—b)d—-b)d-c)
P [abcd{b—a}(c—a}(d—a}(c—b)(d—b)(d—c) ]
a 0 0 -~ 0 1
0 a 0 - 0
e 0 0 a - 00 i
famD=. . . |
a
10, BABEER P00 0 a
1500
A a'—a :
B\ n—l_arz
C‘ an—l_arz
D, 0
g% [a-a ]
BXIEFLENIXEE
2 3 0) -1 0 0)
E# X4+B=4AB+X, A=|0 3 EJ;, B=|0 0 EJ;, T g
0 0 4 0 0 1
1. EAJERR / /
150
4 3
-1 3 0]
2 1
0 0 0
0 0 1}




-1 0 0)
0 1 0|

1 0 0)

[ I

=
=
I

-,

AR 3FER, B AME 2 203IE 1 JFHEMEB, BrcmBME 2475
3T RATER, 12
1 0 0) 1 0
B = 1 0, B={0 0 1, MA=

0 1

> &
=]
= i
Eﬁ
&
=
S

7

B'A

$ oo
i
— = [3
e
k
| -



g, AB=B"4"

c. |BA|=-8
D. |4B|=0
s [ MBI=0 )

4. YL O A8 npiERE, BREat A +34+4E=0,N|(4+E)" =
1500

-1
A\A 4+ E
E+1A
B. 2
g 1
C. 2
E-1u4
D. 2
g 1,
s [ 2]
1 -1 1)
K ohIHFIME, o ROMEE, Fao'=-1 1 -1, plo’a=
5. ERISERR 1 -1 1)
15Im
A, -3
B. 3
C. 0
D. 1
s#: [3]
6. eapesn: 2A4=0123), B=(LLD), mj(4"B)" =
1500 :
1 1 1)
62 2 2|
]
3 3 3
AL J
1 1 1)
612 2 2|
3 3 3)



PLEAB AR SRR TS, AW RSB —FEHNE.
BERREE4A, BiH: https://d. book118. com/79804102100
6006031



https://d.book118.com/798041021006006031
https://d.book118.com/798041021006006031

